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Date Per 1) a) zeros: ¥=02 =] (mu!l+2)
E‘\?) b) y-int: ( O;O )
For problems 1 and"2find the following: ©) asx—w, fx)> O3
2 ,}7\&@0 as x—>-o0, fix)—»> O
a) Allthe real zeros @\ ;n_ Uj d) Graph: s
b) y-intercept if any 2,0 v 7fﬁ
c) describe the end behavior P k\’ AN ‘ ‘ }{%D
d) use the intercepts, end behavior, and number of turns to graph the function \{" T} j
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Plot and label all the intercepts and critical poins. = \ £ :
() = x4 23+ 2.
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A farmer wants to enclose a rectangular plot for his cattle. If he has 200 ft j =
of fence, then find a) the maximum area and b) the dimensions, if: "
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3) He will enclose four sides. i
4) He will use the back of his house as one side (no fence).

5) He will enclose four sides and an inside partition along side 2) a) zeros: K= =2, )(__"[ W=ss
the width.

b) y-int: [ G)""{ )

C) as x—>oo, ffx)——é X

Solve by using the quadratic formula: as x—-oo, f{x)—> — 0
d) Graph:
6) x =-17+2x 7) 2x+3=-2x7 i
o gr =0 2 H2r+I=O EEREEE.
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Simplify: /}* = e ‘{{,,, 5
J 3 'fé'f = - X
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3) 8)26/#> b) ESOLF w= gopt
12) Among all pairs of numbers whose difference is 8, find a pair whose | 4) a) 5006 42b) Lefog A+ = 50 -
product is as small as possible. What is the minimum product? Show| 5) a) [bbGZ jf’f)) Q= SD@\" b= 33?3&-
the work algebraically usm uadra’uc fun tions or no credit willbe | 6) =
given. Y75 = Flr)= xx—g = & loaut 7)W= ~/+°__:v_
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Yz = Imal(# ¥y~ _ >¢ gf/ 4‘4—8 8 Jl- 30
W=

; 9y T4+
Identify the domain and rangr:zfior «r o= e

L -3 + a5t ot
14) f(x) = 45 J-rJer 5 12)  Peduct: —lto #5 Yz -
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= =52, K000, BWD = [o0r Y




